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Disclaimer The information provided within this datasheet is for general information purposes only, without any warranty. ESC Steel LLC shall not be held responsible for any 

errors, omissions or misuse of any of the information provided. ESC Steel LLC disclaims any and all liability resulting from the ability or inability to use the information within 

this document. Anyone using the information contained does so at their own risk. ESC Steel LLC shall not be held liable for any damages which includes any financial losses 

or incidental or consequential damages arising from the use of this information. The product range contained is liable to change without notice. 

Metric to Imperial  Imperial to Metric 

1 cm = 0.3937 in 1 in = 2.5400 cm 

1 m = 3.2808 ft 1 ft = 0.3048 m 

1 cm2  = 0.1550 in2  1 in2  = 6.4516 cm2  

1 m2  = 10.7639 ft2  1 ft2  = 0.0929 m2  

1 cm3  = 0.0610 in3  1 in3  = 16.3870 cm3  

1 m3  = 35.3149 ft3  1 ft3  = 0.0283 m3  

1 cm2 /m = 0.0472 in2 /ft 1 in2 /ft = 21.166 cm2 /m 

1 N = 0.2247 lb 1 lb = 4.4497 N 

1 N/mm = 5.7082 lb/in 1 lb/in = 0.1752 N/mm 

1 N/m = 0.0685 lb/ft 1 lb/ft = 14.5989 N/m 

1 N/cm2  = 1.4499 lb/in2  1 lb/in2  = 0.6897 N/cm2  

1 N/m2  = 0.0209 lb/ft2  1 lb/ft2  = 47.8968 N/m2  

1 N/cm3  = 3.6827 lb/in3  1 lb/in3  = 0.27154 N/cm3  

1 N/m3  = 0.0064 lb/ft3  1 lb/ft3  = 157.1420 N/m3  

1 kg = 2.2046 lb 1 lb = 0.4536 kg 

1 kg/m = 0.6720 lb/ft 1 lb/ft = 1.4882 kg/m 

1 kg/m2  = 0.2048 lb/ft2  1 lb/ft2  = 4.8824 kg/m2  

1 Metric Tons = 1.1023 US ton 1 US ton = 0.9072 Metric Tons 

1 cm4 = 0.0240 in4  1 in4  = 41.6228 cm4 

1 cm4 /m = 0.00732 in4 /ft 1 in4 /ft = 136.5582 cm4 /m 

1 cm3  = 0.0610 in3  1 in3  = 16.3870 cm3  

1 cm3 /m = 0.0186 in3/ft 1 in3/ft = 53.7631 cm3 /m 

1 Nm = 0.7373 lb.ft 1 lb.ft = 1.3563 Nm 

1 Nm/m = 2.6968 lb.in/ft 1 lb.in/ft = 0.3708 Nm/m 


